Q OForm St 7| AMM H (K| 11-553)
SHE AV (R&717h 202314 118 282 06A] ~ 112 29 06A|)

[ 20234 112! 282 06A| EHE | OlE2a: ol

-l E N2 &8, 28 A =

1

O{I:I
l

> 270N
O (23) eMOeA) a2 FEE2 7t20 MS0| 15kt@8km/h 2 =11 APZ2 10kmO| S A LICE 25@8%)2 7|YE2 B
oAl HolLt S= SFALUM FSH22 0|Sst= 17|Ye| 7FFA2|of SR H, A2 SASLICL

= AM— FaN=]

0

O (HE) 3= S50 2| 27| 7FgAt2[of S, M2 ST

Oof & Z[X/x| 172 (O) ol ZXMHZG2=(0) ol Za=imm)/HE(cm)
(23) /5 (L) -1/6 (L) -7 -

A 7102

» [m=] o
O (E& 883)
o

2=5(28Y)) BH21~24AHK| B 2E= 15kt(28km/h), X|CHa=7 =< 25~30ktd6~56km/h) LI 2| 2| 4ot HIZHo| 210
SEAZ Qo g ES0| o k|l QFHAL S A[EZ22[0f 2t S| 72l5HA| 7| BHEL|CL
AlZtE £330 =
289
a4 06 07 08 09 10 1 12 13 14 15 16 17
4 4 4 4 4 4 4 4 4 4 4 4
e D D D R R R R R e
=12 =12 =£Z12 =12 =212 =12 =212 =12 =12 = =212 212
H HiZ9 H, =9 A, HiZ 9 # HiEg A HiE9 H, HiZ.9 A, HiZ 9 # HiZ:g = HiE9 H HiZE9 A HiZE g H HiZE9
289 29%
18 19 20 21 2 23 00 01 02 03 04 05
4 4 4 4 4 4 4 4 4 4 4 4
Eab) Z512 =312 =29 =39 =39 =39 %29 =39 %39 =59 £39
H,HE9 H,HE 9 H,BE 9 65 H,HES H,HES H,HE 5 H,HE5 H,HES =S H,HE 5 65

XKES NS 2S SLE LT 20| TSt BHES 2|0, EHel= kel (Of:

%
oftl
S
rir
A
oft
o
N
~
oo
mjo
1o
o

2 oM
Ojo H
rot

Ofot

Owvw
£

O BT
X374 A L0 Tot REMIgh A2 257|447 g1 0| X|(amokmagoknOf A =olgh 4= Q& LT}
M ZAl7| | THEER}, MBHHS Ol FAXHS 7} HZAE QS Tf= O 2.0} (TEL 032-740-2855 / FAX 032-740-2817) & 2L2{ZA|7|

HFZFLCE




